==
#
27
M3

E
g X
'ao

p

L -2

cH

A )



-2 x|

M
chef

1.838Hs

0-1-

<
b
I
ol

Ct.

oIl




-2 x|

]

chef

olo

%0

Q={HH, HT, TH, TT}
X{HH}=2, X{HT, TH}=1, X{TT}=0

- | <

P(X =0)

o
2

P(X =1)

_1
4

P(X=2)




€ -2i5 x|

]
o=}

o
=}
M_.
joll
3 o
%
a F
— Jol
—|=r - —|= \0nlul Mm.l_
o IH
£
= 0
M o’
K 1
H c
.
X
Ho J[d
Hl X
<k
— T
S
Cc
Rl
E -
o X
s
gr =
ol T
RO 5%
ul <
<{F o
mu {0
i mw_
of ™




-2 x|

]
ci=f

A
e

0|43 &5

2

5-1-

ol

<
Eal

on
Of 1ol
RO 4|
I ~K
o3 o|
<
M=._ ._o._ﬁ
—

na O

3
<
WS
nK k0
o < <

O Hofr

Mmﬂ -
o KIr

oIl




]

chef

€ 21 X

T
i
NK
ojn
4 .
> o
ol )
o —
=< olJ
c = o
<! ol
KA ol Wﬁ
T S it
Llﬂ _ ._I_O._lﬁ
*M A of
ol N R 0
<+ I 5
- +OL
T
- |0
i v . e N
) n- X __l uld
130 B O 1_n_._
el ©  KIr SN
O = o~




-2 x|

221

chef

M

o/
nif
foil
=]
K
™
ol
NS
M |
o M_m
— 10
T e
S | - M
—_ 0 T
(@) - |11|_ —
© i m“_ jod
X B
S LT}
L = N g
£ . m .9
"— wjd
S o ol 2
a i 3
L . of o«
R
5 | -
i 3 2
< == — =
o 0O S 0
T ©
KO Qo
‘B ST
joll <k .- o &
0 e ol N
= [ oo __ o0
KL 104 o &
Ll o H Nz
joil’ s W of M
) of o nr




-2i'g X|EEE

22

=
s}

if]

= (probability density function; p.d.f )2t £ =2H

[ 4 N N,
Qe

Y



HEp

thet €21 xIRME

#

\
tEroteo| XA
1. 25 X240 CHSHY  £(x) = 0 O|Ct.
=, Xo| E& A= 240 CHsty =E 2 =2t== 0 O|&O|LC}.
2 X2 & 7ttt (ke =E2 HE
[© f00dx= 7si0 of 22 g4t 10ic)
b
3 Tt (a b EHEL f (X)dxo|Ct. =, 17t (a b) O CHS X o HELS
a
O 720 Ao HEZETr F(a) E THEO0X|= HAEQ| 3 7|0]|LC},

a> £

(FB ’




-2 xjpaE

)
st

1 f(x)




-2 x|

]
ci=f

{F
100
IH
1K
R
I

(X Sa): |:x (a)

P =




]

thet € -2 XIRAE]

~ ™~

FHEEHSE 130 3EUS BFALL

Jot
oot
A

=
v BE xo| gl thsi M 0 < F, (x) <1 Olct.

v X1<X2 O|™, FX (Xl) < FX (Xz) O|C}.

v Fy(—0) =0 0I5 F, (c0) =10k,




2o
thet €21 xIRME

\

=,
StEH X7t O|MHE x, < x, < ... < x,0A 00| Ot SHEZ 7HX|
X

. a<x @ A2, F(a)=00|C}
caxx 0l @ F@=2PR ot

1
2
3. axx, 2 42 F(a):ZPi=1 O| C}.
4

F@c x2 4 O AHA]" X; < X5 < ... <x0lN Pi=1..n ZHEY

T ofsh= A thhOlLt.




215 x|sEE

221

chef

M

joll
ol
%0
1
o
&”_— — —
i
o = 0 o
a O — —
Mw_ I R
O —
V_F K "
) T
! L
V_A N
e O
il > m_m
i L
o . 14
T U <{F
< I
= M= 3
ol I
XU olo TH
pd Kr < © Y w m
< e @ % %0y
U= M
IH _
m_ﬁ_m M IH
on W o U
Ho X< o
=3




tiet €21 XIREE]

M

F(x)

o|

2tEZ 7HA
= (step function)

(=13
=

Al

=

s #H= O[O0 00] OFH
(o)

A E=2f(jump)

5 g
AL
-

-
o

At
0]

» O
7t
2|

15

a4



